The WQI is calculated using the weighted product of the nine parameters, according to the

following formula: 9
104=1]4,"
Where: =

WQI = Water Quality Index. A number between 0 and 100;

gi = quality of the i-th parameter. A number between 0 and 100, obtained from the
respective quality chart, as a function of its concentration or measurement (analysis
result);

wi = weight corresponding to the i-th parameter fixed according to its importance for the
global conformation of quality, that is. a number between 0 and 1, so that:

iwi:1

i=1

where n is the number of parameters that enter the WQI calculation.
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Nitrate
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Turbidity

0 10 20 30 40 50 60 70 80 90 100
Turbidity NTU

Total Dissolved Solids
100

0
80 (e

€0

& 50 -
40 [
30
20

10

(1] 100 200 300 400 500 600
TDS (mg/L)




	Página 1
	Página 2
	Página 3
	Página 4

